[ Efficiency vs vertpos |

1072 107 1

10 0?
TP vertr (cr%)

[ fake+d

uplicates vs vertr

=

fake+duplicates vs. r

..............................................

—=— DQM_origmal_originalvector_I000evt
—e— DQM”original_1000evt

Tai —— DQM_fitted4_T000evt
Efficiend —— DOM_fit_nocpe_1000evt

~ 0.1
$0.09
2]
£0.08
>
2
50.07
£0.06
(]
0.05
0.04
0.03
0.02)
0.01

1.0

Ratio

e

....... 111 S

0935~ =20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.7
>
80.09
£
£0.08
£0.07
oy
.5 0.06)
o
£0.05
()
0.04
0.03
0.02
0.0%

=

095515 -10 5 0 5 10 15 20
Sim. PV z (cm)

icates
o
N

0.35

fake+dupl
o
w

0.25
0.2
0.15
0.1
0.05

Ratio
T

%920 -10 0 10 20 30

track ref. point z (cm)

[ fake+d

uplicates vs Sim. PV z |

~ 0.5
>

0.0.45
7] 0.4

rate vs
o
w
(]

0.3
0.25

(%]

fake+duplicate
o
=
[6)]

o
i

0.05

Ratio

0.9

o
[\S]
R B R L LR RN RN R N RN LR RRR LRRRD LARLY RRRLN LRRR

08

5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


